
6686 6686.5 6687 6687.5 6688
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

2.5

3

3.5

4

4.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

6628

6628.5

6629

6629.5

6630

6630.5

6631

6631.5

6632

ru
n

run:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6630}



6686 6686.5 6687 6687.5 6688
cyclenum

187.8−

187.6−

187.4−

187.2−

187−

186.8−

186.6−

186.4−

186.2−

186−

185.8−

185.6−

us
l_

1X

usl_1X:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

25

25.2

25.4

25.6

25.8

26

26.2

26.4

26.6

26.8

27

27.2

us
l_

4a
Y

usl_4aY:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

136.6

136.8

137

137.2

137.4

137.6

137.8

138

138.2

138.4

138.6

138.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

8.5

9

9.5

10

10.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

64−

63.5−

63−

62.5−

62−

us
l_

12
X

usl_12X:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

6628

6628.5

6629

6629.5

6630

6630.5

6631

6631.5

6632

ru
n

run:cyclenum {run == 6630}



6686 6686.5 6687 6687.5 6688
cyclenum

195.5−

195−

194.5−

194−

193.5−us
r_

1X

usr_1X:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

27.5

28

28.5

29

29.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

262.6

262.8

263

263.2

263.4

263.6

263.8

264

264.2

264.4

264.6

264.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

3.5−

3−

2.5−

2−

1.5−us
r_

4e
Y

usr_4eY:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

52.5−

52−

51.5−

51−

50.5−

us
r_

12
X

usr_12X:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

6628

6628.5

6629

6629.5

6630

6630.5

6631

6631.5

6632

ru
n

run:cyclenum {run == 6630}



6686 6686.5 6687 6687.5 6688
cyclenum

30578.5

30579

30579.5

30580

30580.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

6279.5

6280

6280.5

6281

6281.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

6950.5

6951

6951.5

6952

6952.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

1424.8−

1424.6−

1424.4−

1424.2−

1424−

1423.8−

1423.6−

1423.4−

1423.2−

1423−

1422.8−

1422.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

25600

25600.5

25601

25601.5

25602

us
l_

co
il7

usl_coil7:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

6628

6628.5

6629

6629.5

6630

6630.5

6631

6631.5

6632

ru
n

run:cyclenum {run == 6630}



6686 6686.5 6687 6687.5 6688
cyclenum

27567.5−

27567−

27566.5−

27566−

27565.5−us
r_

co
il1

usr_coil1:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

5489.5−

5489−

5488.5−

5488−

5487.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

5347

5347.5

5348

5348.5

5349

us
r_

co
il4

usr_coil4:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

800.5−

800−

799.5−

799−

798.5−us
r_

co
il6

usr_coil6:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

23482.2

23482.4

23482.6

23482.8

23483

23483.2

23483.4

23483.6

23483.8

23484

23484.2

23484.4

us
r_

co
il7

usr_coil7:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

6628

6628.5

6629

6629.5

6630

6630.5

6631

6631.5

6632

ru
n

run:cyclenum {run == 6630}



6686 6686.5 6687 6687.5 6688
cyclenum

427.5−

427−

426.5−

426−

425.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

71−

70.5−

70−

69.5−

69−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

21

21.5

22

22.5

23

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

467−

466.5−

466−

465.5−

465−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

90.5−

90−

89.5−

89−

88.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

21.5

22

22.5

23

23.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6630}



6686 6686.5 6687 6687.5 6688
cyclenum

177

177.5

178

178.5

179

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

41

41.5

42

42.5

43

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

11−

10.5−

10−

9.5−

9−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

187

187.2

187.4

187.6

187.8

188

188.2

188.4

188.6

188.8

189

189.2

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

19.5−

19−

18.5−

18−

17.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

9.5−

9−

8.5−

8−

7.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6630}



6686 6686.5 6687 6687.5 6688
cyclenum

238−

237.5−

237−

236.5−

236−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

87−

86.5−

86−

85.5−

85−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

10

10.5

11

11.5

12

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

428−

427.5−

427−

426.5−

426−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6630}

6686 6686.5 6687 6687.5 6688
cyclenum

6628

6628.5

6629

6629.5

6630

6630.5

6631

6631.5

6632

ru
n

run:cyclenum {run == 6630}
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